NEC /

NPN SILICON TRANSISTOR

2SC3733

DESCRIPTION The 2SC3733 is designed for power amplifier and high
speed switching applications. PACKAGE DIMENSIONS
in millimeters (inches)
FEATURES ® High speed, high voltage switching. 7.OMAX 12
® Low Collector Saturation Voltage. L0 27ehAx) Qo
® Complementary to the NEC 2SA 1460 PNP transistor. ~ 2§ =
ABSOLUTE MAXIMUM RATINGS 0.0, £ -3
Maximum Temperatures I
Storage Temperature . .. ....... —55 to +150 °C AN veos 22
Junction Temperature .. ...... 150 °C Maximum - (0.029 S8
Maximum Power Dissipation (T4 = 25 °C) T ©
Total Power Dissipation . . . ....... 1.0 W L, 0.550.1
Maximum Voltages and Currents (T = 25 °C) ©os7| | |0 - 0622
VcBo Collector to Base Voltage ... 80 Vv PRy _lé%
Vceo  Collector to Emitter Voltage. 45  V %z e
VeBoO Emitter to Base Voltage . ... 50 V e
Icipe)  Collector Current (DC) 10 A 1 emister
Ic(puise) Collector Current (pulse)* .. 20 A 3. Base
* PW <10 ms, Duty Cycle <50 %
ELECTRICAL CHARACTERISTICS (T, =25 °C)
SymsoL CHARACTERISTIC MIN. TYP. MAX. UNIT TEST CONDITIONS
ton Turn-on Time 20 40 ns l Veg=10V
toff Turn-off Time 72 110 ns Ic =500 mA
tsig Storage Time 55 80 ns [ Ig1=~1B2=50 mA
fT Gain Bandwidth Product 300 380 MHz VEg =10V, Ig = 100 mA
Cob Output Capacitance 1.8 10 pF Veg=10V, lg=0,f=1MHz
hEg=» DC Current Gain . 60 120 200 - Veg =10V, Ic =50 mA
hEgg*» DC Current Gain 60 150 - Vcg =10 V,'Ic =500 mA
VCE(sat)**  Collector Saturation Voltage 0.17 0.40 \' lc =500 mA, Ig = 50 mA
VBE(sat)** Base Saturation Voltage 0.90 1.20 \ Ic =500 mA, Ilg =50 mA
ICEs Collector Cutoff Current 0.1 HA Veg=45V,Rge=0
lEBO Emitter Cutoff Current 0.1 HA VEg=40V,Ic=0

** Pulsed: PW <350 us, Duty Cycle <2 % .

Classification of hggq

Rank L

K

Range 60 to 120

100 to 200

Test Conditions: VCg =10V, Ic=50 mA
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NEC 2SC3733

VCE(sat) —Collector Saturation Voltage—V

TYPICAL CHARACTERISTICS (T =25 °C)
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2SC3733

NEC

SWITCHING TIME vs. COLLECTOR

CURRENT
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Ic—Collector Current—A

SWITCHING TIME TEST CIRCUIT
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